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you may collaborate o this homework with AT MOST one person, an optional “homework buddy”.

 MAY ONLY BE TURNED IN IN THE LECTURE/LAB LISTED ABOVE AS THE DUE DATE,
ORIF APPLICABLE, SUBMITTED ON GRADESCOPE. There is NO MAKEUP for missed assignments;
in place of that, we drop the lowest scores (if you have zeros, those are the lowest sCOres. }

Read Chpater 10 (Tf you don’t have a copy of the textbook yet, there is one on
reserve at the library under “COMPO00- _STAFF - Permanent Reserve”). '

1. (10 pts) Draw a binary search iree with 6 nodes containing the integer Please:

keys 60, 30, 40, 50, 20, 10, You can arrange these in any order as long as o

the resultant tree satisfies the properties of a BST. Circle the root, and put « No Staples.
asterisks on each leaf. Find two nodes that are siblings and connect them » No Paperclips.

e No folded down corners.

with a wigly line. & voo }7

0 _
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2. (10 pts) Look at the tree in Figure 10.5 on page 484. In what order are the letters printed for an in-order traversal? What about a post-order
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by a new line, Write code to apply the stars function to every node in a binary tree using an in-order
(raversal, where the number of stars is that given by the data of the node in the BST. You must write both the
function definition and the code that uses it with the star function I
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4. (2 pts) Why s it bad ta insert nodes from smallest to largest in a binary search tree?
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5. (5 pts) Build a binary search tree with the following words (inserted in the provided order); Kenya, Austria, Ireland, Norway, Laos,
Germany, Moldova e
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6. (3 pts) Search for the following keys in the BST that you created in the previous question: Ireland, Germany, Moldova and in each case
indicate the nodes that you visited along the way. o
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